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Converting Between Equations of Lines Side
Standard
Ax+By=C
~ To write:
" 1. 1" write in slope-intercept or point-slope form
2. Change into standard form using inverse operations,
Slope-Intercept, y=mx+b Point-Slope, y ~y; = m(x —x)
to to
Stsndard Ax +By C Standard, Ax +B C
“J% {z x '
cy = X "ff..
e AX T mTAX
-axigyE IS
" l 2XFeU = 1S | b
Point-Slope | Standard
Yy—=Ji= m(x xI) Ax +By==C ‘
- To graph: To graph:
1. Change to slope-intercept form - 1. Change to slope-intercept form
or make an x,y table of values.
PointéSIope, ¥y ;yl = m(x —Xxy) Standard, Ax +By=C
to )
Slope-Intercept, y =mx+b
bx - 3 »
- 4 X Lj = - ‘(X
-1 cj =-4X 4+ &
e -3
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